Polish Club Chap 1-1  1C Opening


Chapter 1-1  1C Opening
Aug. 23, 2022
Open 1C
(1) 12~14HCP, no 5+card M, no 4+card D, balanced (may 5 cards C), or 4414/4405 short D
(2) 15~17HCP, 5+card C, unbalanced (open 1D when 15~17 & 55m)
(3) 18+HCP, any shape, except 5+D with 18~21 & no 4 card M
Note: (a) 5 card C & 4 card D: Open 1D when 11~14; Open 1C when 15~17

     (b) Open 1D when 12~17 & 44 m (may 4144/1444, single M)
(c) Open 1D when 11~17, 5 cards C & 5 cards D
Conventions: (1) Support double/redouble (2) XYZ (3) Rubens Transfer 

First responses for opening 1C
	1C
	1D
	(1) 0~8 (no 4 +card M when 7~8)

(2) 9~11, unbalanced, may 54 m or one m

	
	1M
	7+HCP & 4+card M, or 6+HCP & 5+card M, or 5+HCP & 6+card M (11-law=cards+HCP>=11)

	
	1N
	9~11 HCP, BAL, no 4 +card M. May have 54 m.

	
	2C/2D
	12+, GF, 5+card C/D (may only 4 card when 15+). If 12+ & 4 card M & 5+card m, bid 1M first when >=6.5 losers, bid 2C/2D first when <=6 losers.

	
	2H
	Weak, 4-6 HCP, H+S, 55+. Then, P/2S/3M/4M=to play; 2N= ask short, reply 3C/3D=short in C/D.

	
	2S
	(1) 10~11 HCP, any one suit, 6+ cards with 2+honors.
(2) Any one suit, AKQXXXX 7 cards without outside A or K. (Same we open 3S).

Then, bid 2N=ask. Reply 3N=any one solid 7 cards.

	
	2N
	12~14HCP, GF, no 4+M, no 5+m.

	
	3-level 
	7~9 HCP, 6+card suit (7+D for 3D)

	
	4C/4D
	PRE

	
	4M
	To play


	1C
	1D
	

	1H/1S
	
	(1) Better M, 3~4 cards M when 12~14 (if 3 cards M, may 5 cards C) 
(2) Exactly 4 cards M when 15~17 with 5+C or 4441
(3) 4+M when 18+, may have 5+card C/D

	1N
	
	18~19, BAL (may have 4 cards M). Then, same as we open 1N

	2C
	
	15+HCP, 5+card C, no 4 card M. 
If 15+, 5+card C & 4 card M, bid 1M first.

	2D
	
	GF, any shape, ASK # of controls (A=2, K=1), then reply 2H/2S/2N/3C/…=0/1/2/3/…

	2H/2S/3C
/3D
	
	5+card, NAT, semiforcing (Similar to open 2C in SAYC)

	2N
	
	22~24, BAL. Then, same as we open 2N (20-21HCP)

	3H/3S/4C/4D
	
	22+HCP, 4441, single in the suit

	3N
	
	Any one suit, AKQXXXX 7 cards with at least outside K, at most outside A & K. Otherwise bid 2D (GF)


	1C
	1D
	

	1M
	1S(to 1H)
	5~6 HCP, 4+S

	
	2H(to 1S)
	5~6 HCP, 5+H

	
	2C/2D
	5~8 HCP, 5+cards C/D

	
	2M
	4-6HCP & 4+card M, or 3 HCP & 5+card M

	
	2N
	9~11 HCP, 54+ m, Unbalanced. Then opener bid:
3C=4+C, to play, the only NF

3D=4+D, GF (Because opener do not open 1D)

3M’=may 4+M’, 18+; or fit C, slam try.

3M=18+, 5+M

	
	3C/3D
	9~11 HCP, 6+cards C/D

	
	1N
	5~8 HCP, BAL

	2C
	
	15+HCP, 4+M with 5+C. (If responder 3 cards M, should bid 2M. If responder did not bid 2M, opener needs not show 5 cards M if he has.) 

Then rebid 3C=4+M & 6+C, 15+

	2D
	
	18+HCP, 4+M with 5+D. (If responder 3 cards M, should bid 2M. If responder did not bid 2M, opener needs not show 5 cards M if he has.)

Then rebid 3D=5+M & 6+D

	2M
	
	18+HCP, 5+M (may have 4+card C/D)

	2H(to 1S)
	
	18+HCP, 5+S with 4+H

	2S(to 1H)
	
	18+HCP, 6+H with 4+S, GF

	2N/3N
	
	18-19/22-24HCP, 5332, 5 card M, BAL

	3C3D
	
	18+HCP, exactly 4 cards M with 6+C/D,GF


	1C
	1D
	

	2C
	2D/2M
	4~8 HCP & 5+ D / 4~6 & 5 card M

	
	2N
	7~8 HCP, NAT, INV

	
	3C
	5~8HCP,NAT, 3+C

	
	3D
	9~11HCP, 5+D

	
	3H/3S
	9-11HCP, 6+C or 54+ m, short H/S


	1C
	1D/1H/1S/1N/2C
	

	2D
	
	GF, any shape, ASK # of controls (A=2, K=1).
For 1H/1S/1N, it has high possibility:
(1) fit responder’s suit, (2) or opener has D suit.  

	
	Reply 
	Reply 2H/2S/2N/3C/…=0/1/2/3/… controls

	New suit
	
	Nat, suit. Then natural bid.


1C-1M/1N/2B (Positive Response) 
	1C
	1M
	

	1S
	
	(to 1M=1H) NAT, 12+HCP, 4 card S (may have 5+C, 15+CHP) 

	1N
	
	12~14, BAL. Then 2C/2D for XYZ (See open 1D). 

	2C
	
	15+HCP, 5+card C, then responder 2D=GF
(to 1M=1H) no 4 cards S. 
If 15+ & 5+C & 4M, can bid 2C first when no other proper bids 

	2D
	
	GF, any shape, ASK # of controls (A=2, K=1), then reply 2H/2S/2N/3C/…=0/1/2/3/…

	2M
	
	12-14, 4 card M (at most 4 cards C; otherwise open 2C) 
Then same as 1D  1M 

	2H
	
	(to 1M=1S) 18+HCP, 5+card H, GF. If 18+, 5+card H & 4 card S, bid 2H first.

	2S
	
	(to 1M=1H) NAT, 20+HCP, 6+card S, or 22+HCP, 5+S

	2N
	
	GF, 18-19, BAL, may have 4 card H or 4 card S, no 5 card C.

	3C
	
	18+HCP, 6+ C, at most 2 card M (otherwise bid 2C).

	3D
	
	21+HCP, 6+D, at most 2 card M (otherwise bid 2D).

	3M
	
	INV, 4 card M, (1) 16-17, with 5 card C, BAL (2425)
(2) 13-14, with any short.
Then responder’s relay is to ask short for slam try: 
3S(to 1H)=ask, reply 3N/4C=No short/short D

        (impossible short C or short S)

3N(to 1S)=ask, reply 4C/4D= No short/short D
        (impossible short C or short S)

	4M
	
	18-19 HCP, 4 card M & 5 card C, BAL (5422).
If 4 card M & 5 card D, should bid 2D.
(20-21, 5422, we open 2D, then bid 2N)

	4N
	
	RKC for trump=M (should no such bid)


	1C
	1H
	

	3S
	
	15-17, 4 cards H, any one short. 

Then 3N=ask (slam interest), reply 4C/4D=short D/S

	3N/4C/4D
	
	18-21HCP, 4 cards H, short S/C/D (if void, then 15-18)


	1C
	1S
	

	3N
	
	15-17, 4 cards S, any one short. 

Then 4C=ask (slam interest), reply 4D/4H=short D/H

	4C/4D/4H
	
	18-21HCP, 4 cards S, short C/D/H (if void, then 15-18)


	1C
	1M
	

	1S(to 1H) /1N
	2C/2D
	XYZ (See open 1D)


	1C
	1H
	

	1S
	4C/4D
	13~15, Splinter (4C not raise, not RKC), trump=S


	1C
	1H
	

	1S
	1N/2H
	

	2C/3C
	
	15+HCP, 5+card C. When 12-14, do not show 5 card C


	1C
	1M
	

	2N
	3C/3D
	4+C/D

	
	3M
	5+M

	
	3H
	(to 1M=1S), GF, exactly 5+card S & 4 card H

	
	3S
	(to 1M=1H), GF, exactly 4 card H & 4 card S

	
	3N
	To play. If opener has 4 card M, 18-19, BAL, he can decide 3N or bid 4M


	1C
	1N
	

	2C
	
	15+HCP, 5+card C, GF

	2D
	
	GF, any shape, ASK # of controls (A=2, K=1), then reply 2H/2S/2N/3C/…=0/1/2/3/…

	2N/3N
	
	INV 3N / to play 3N.

	3C/3D/3H/3S
	
	18+HCP, 6+card suit.

	2M
	
	18+HCP, 5+card M. 

	
	2S(to 2H)/3H(to 2S)
	May be 4 cards S/H, 11 HCP, but do not want to bid 1S/1H in the first response.

	
	3C/3D
	5 cards C/D, may have 3 card M (if 3 card M, then not so good C/D suit)

	
	3M/4M
	3 card M, slam interest/worst hand 

	
	4C/4D
	3 card M, 5 cards C/D with at least two of AKQ 


	1C
	2C/2D
	

	2D(to 2C)
	
	GF, any shape, ASK # of controls (A=2, K=1), then reply 2H/2S/2N/3C/…=0/1/2/3/…

	2H/2S
	
	12+, 4+cards H/S (if rebid 3H/3S, then 18+ & 5+/HS)

	2N
	
	12-14 or 18+HCP, BAL, 2 card C/D, or 3 card C/D without honor

	3C/3D
	
	Support raise, 12+HCP, 3+cards C/D with one honor

	3C(to 2D)
	
	12+HCP, 5+cards C (not 15+)

	3D/3H/3S(to 2C)
	
	Splinter, short D/H/S , 4+C, 12+HCP

	3H/3S/4C(to 2D)
	
	Splinter, short H/S/C , 4+D, 12+HCP

	4C/4D
	
	Jump to 4-level, RKC, trump is C/D


	1C
	2S
	

	2N
	
	Ask suit.

	
	3B
	Suit B. Then responder NAT.

	
	3N
	Any solid suit AKQXXXX, 7 cards.


Passed hands
	P
	1C
	

	2C/2D
	
	10-11, 5+C/D

	Others 
	
	Same as not passed


Note: There is no 4th new suit forcing for a passed hand.
Opponent’s Overcalls (4th seat)
	1C
	P 
	1D
	1S
	

	P
	
	
	
	12-14. Cannot X or bid 2C with 5 card C

	X
	
	
	
	15+HCP, takeout

	1N/2N
	
	
	
	18~19/22~24, BAL, S stopper

	2D
	
	
	
	GF, ASK # of control, 2H/2S/2N…=0/1/2/…

	2C/2H
	
	
	
	15+ & 5+C / 18+ & 5+ H

	2S 
	
	
	
	18+, H suit and one m, 55+

	3D/3H
	
	
	
	18+, semiforcing, 6+card D/H

	3S
	
	
	
	Ask S stopper to bid 3N. If no, bid 4C

	3N
	
	
	
	To play, C AKQXXXX(+) with S stopper

	Others
	
	
	
	Same as 1C (P) 1D (P) ?


Opponent’s Overcalls (Rubens Transfer-type 1 and type 2)
	1C
	X 
	XX
	
	XX=bid 1D, 7+HCP, no 4 card M, not show D suit (same as 1C 1D, but 7+HCP)

	
	
	1D/1H
	
	=bid 1H/1S, 7+HCP, Transfer, 4+card H/S.

	
	
	1S
	
	=bid 1N, 9-11HCP, BAL

	
	
	1N 
	
	=bid 2C, Transfer, 5+C, GF

	
	
	2C
	
	7-9HCP, 5+C, normal raise

	
	
	2D
	
	5+D, GF, not transfer

	
	
	2H up
	
	Same as no X


	1C
	1D 
	X/1H
	
	=bid 1H/1S, 7+HCP, Transfer, 4+card H/S

	
	
	1S
	
	1S=Takeout, 7+HCP, 4+card C, no 4 card M

	
	
	1N 
	
	7~10HCP, BAL, D stopper. Not transfer.

	
	
	2C
	
	5+ card C, NAT, 7~9 HCP

	
	
	2H
	
	Weak, 4-6 HCP, H+S, 55+ cards. (same as no 1D)

	
	
	2D
	
	(1) C suit, INV+ (2) GF, any shape

	
	
	2S 
	
	10~11HCP,any suit 6+ cards with 2 honors, INV

	
	
	2N 
	
	INV,11-12HCP, D stopper, BAL

	
	
	3C up 
	
	same as no overcall


	1C
	1D 
	
	
	(Opp overcall with transfer) 1D=bid 1H, H suit. Then subsequent bid views as Opp 1H

	
	1H 
	
	
	

	
	
	X
	
	(to 1D) =bid 1D, 7+HCP, no 4 card M, 4+D

	
	
	1H
	
	(to 1D) =bid 1S, 7+HCP, Transfer, 4+card S

	
	
	X
	
	(to 1H) =bid 1S, 7+HCP, Transfer, 4+card S

	
	
	1S
	
	1S=Takeout, 7+HCP, C/D suit, no 4 card M 

	
	
	1N 
	
	7~10 HCP, BAL, H stopper. Not transfer.

	
	
	2C
	
	5+ card C, NAT, 7~9 HCP

	
	
	2D
	
	10+HCP, 5+D, F1

	
	
	2H
	
	C suit, INV+ 

	
	
	2S 
	
	10~11HCP, any 6+ cards with 2 honors, INV

	
	
	2N 
	
	INV,11-12HCP, H stopper, BAL

	
	
	3C up 
	
	same as no overcall


	1C
	1S 
	X
	
	Normal takeout, 7+HCP, guarantee 4+card H. (If D suit, but no 10HCP, then pass first)

	
	
	1N 
	
	7~10 HCP, BAL, S stopper. Not transfer.

	
	
	2C
	
	5+ card C, NAT, 7~9 HCP

	
	
	2D/2H
	
	10+HCP, 5+D/H, F1

	
	
	2S
	
	C suit, INV+

	
	
	2N 
	
	INV,11-12HCP, S stopper, BAL 

	
	
	3C up
	
	same as no overcall


	1C
	X 
	XX/1D/1H/1S
	  P
	

	1H/2H
	
	
	
	(to 1D) 12-14, 3/4 card H

	1S
	
	
	
	(to 1D) 4+S, 12-20. (4 card S when 12-17) (1) Bid 1H/2H when 12-14, 3/4 card H (2) May 4 card S, 15+ & 5+C, or 18+ & 5+D. 
(3) Opener next bid 2S if 18-20 and 5+S

	1S/2S
	
	
	
	(to 1H) 12-14, 3/4 card S

	1N
	
	
	
	12-14, BAL (If min & cannot raise, must bid 1N)

	2C
	
	
	
	15+HCP, 5+C


	1C
	1D 
	X/1H/1S
	  P
	

	1N
	
	
	
	12-14, BAL (If min & cannot raise, must bid 1N, even no D stopper)

	2C
	
	
	
	15+HCP, 5+C

	Others
	
	
	
	Same as 1C (X) XX/1D/1H/1S


	1C
	1D 
	X
	3D
	

	3H
	
	
	
	12-14, compete. If you want to bid 2H originally, now you bid 3H.

	X
	
	
	
	15+HCP, 3 card H (Max support-double)

	P
	
	
	
	Nothing, or 15~18, 2 or less H. If no support on H, pass first and wait for pard’s action.

	4H
	
	
	
	13-14 with short. If you want to bid 3H (invitation) originally, now you bid 4H.


	1C
	1H 
	X/1S
	  P
	

	1N
	
	
	
	12-14, BAL (If min & cannot raise, must bid 1N, even no H stopper)

	2C
	
	
	
	15+HCP, 5+cards C


	1C
	1S 
	X
	P
	

	1N
	
	
	
	12-14, BAL (If min & cannot bid 2H, must bid 1N, even no S stopper)

	2C
	
	
	
	15+HCP, 5+cards C

	2D
	
	
	
	GF, ASK # of control, 2H/2S/2N…=0/1/2/…

	2H
	
	
	
	12~14, 4 cards H (may 5 cards C)

	2S
	
	
	
	18+, ask S stopper, or slam interest

	2N
	
	
	
	18~19, BAL, S stopper, NAT

	3H/4H
	
	
	
	4 card H, INV/to play


Opponent’s Overcalls (2nd seat)
	1C
	1S 
	P
	P
	

	X
	
	
	
	15+HCP, takeout

	2D
	
	
	
	GF, ASK # of control, 2H/2S/2N…=0/1/2/…

	Others
	
	
	
	Same as 1C (P) 1D (P) ?


	1C
	2S 
	X
	P
	

	2N
	
	
	
	12-14, BAL, LEB (even no S stopper)

	3C
	
	
	
	15+HCP, 5+cards C

	3H
	
	
	
	14 HCP, 4 card H(if 12~13, bid 2N first)


Opponent 2-suited Overcalls (See Chap 6) 

Only for reference
自然制，同伴開叫1C/1D，你手持4張高花11HCP。正常情形，至少會叫到2N或三線高花(也可能成局)。

波蘭梅花，同伴開叫1C，你手持4張高花11HCP，且D有A以外的大牌(因為開叫者若低限且有短門，則必為短D)，建議答叫1N(而不是1M)。

好處：1. 可以只打1N，而不必打2N。 2. 增加敵人競叫的困難（當敵人知道1N的答叫可能有四張高花時，真的很難以賭倍競叫）。

開叫者若無法2N邀請，則不會有成局。若接受邀請，則可於三線將高花叫出。

注意：開叫者可能4414，若答叫者有4張高花11HCP，且D無A以外的大牌，仍請答叫1M。

答叫者若有4張高花9~10HCP，則仍回答1M，當開叫者再叫1N後，即可PASS。
1444, 單張S
1D  1S

1N=波蘭梅花建議不要叫2C，否則找不到44H
1C- 3

